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Finite Difference Method. A square plate
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clamped edges

uniform pressure:  p=0.2 MPa

Young’s modulus: E = 2·105 MPa
thickness:  t 
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Partial differential equation of a plate:
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ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య

22 · 𝑎 − 16 · 𝑏 +2 · 𝑐 + 0 · 𝑑 + 2 · 𝑒 + 0 · 𝑓 + 0 · 𝑔 +0 · ℎ + 0 · 𝑖 + 0 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య
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ଵଶ (ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య

−8 · 𝑎 + 23 · 𝑏 −8 · 𝑐 + 1 · 𝑑 − 8 · 𝑒 + 3 · 𝑓 + 0 · 𝑔 +0 · ℎ + 0 · 𝑖 + 0 · 𝑗 =
ଵଶ (ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య



14

0           0            0           0            0           0           0            0           0           0            0

a           0            a           b            c           d           c            b           a            0           a

b           0            b           e            f            g            f            e           b           0           b

c            0           c            f             h           i            h            f            c            0        c

d           0            d           g            i            j             i            g            d           0         d

a           0            a           b            c           d           c            b            a            0           a

c            0           c            f             h           i            h            f            c            0        c

b           0            b           e            f            g            f            e           b           0           b

a           0            a           b            c           d           c            b            a            0           a

0           0            0           0            0           0           0            0           0           0            0

a           0            a           b            c           d           c            b            a            0           a

clamped edges

2    -8            2

2     -8         2

-8        -81 20                         1

1

1

1 · 𝑐 + 2 · 0 − 8 · 0 +2 · 0 + 1 · 𝑎 − 8 · 𝑏 +20 · 𝑐 − 8 · 𝑑 + 1 · 𝑐 +2 · 𝑒 − 8 · 𝑓 + 2 · 𝑔 + 1 · ℎ =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ య

1 · 𝑎 − 8 · 𝑏 +22 · 𝑐 − 8 · 𝑑 + 2 · 𝑒 − 8 · 𝑓 + 2 · 𝑔 +1 · ℎ + 0 · 𝑖 + 0 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ య



15

0           0            0           0            0           0           0            0           0           0            0

a           0            a           b            c           d           c            b           a            0           a

b           0            b           e            f            g            f            e           b           0           b

c            0           c            f             h           i            h            f            c            0        c

d           0            d           g            i            j             i            g            d           0         d

a           0            a           b            c           d           c            b            a            0           a

c            0           c            f             h           i            h            f            c            0        c

b           0            b           e            f            g            f            e           b           0           b

a           0            a           b            c           d           c            b            a            0           a

0           0            0           0            0           0           0            0           0           0            0

a           0            a           b            c           d           c            b            a            0           a

clamped edges

2    -8            2

2     -8         2

-8        -81 20                         1

1

1

1 · 𝑑 + 2 · 0 − 8 · 0 +2 · 0 + 1 · 𝑏 − 8 · 𝑐 +20 · 𝑑 − 8 · 𝑐 + 1 · 𝑏 +2 · 𝑓 − 8 · 𝑔 + 2 · 𝑓 + 1 · 𝑖 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ య

0 · 𝑎 + 2 · 𝑏 −16 · 𝑐 + 21 · 𝑑 + 0 · 𝑒 + 4 · 𝑓 − 8 · 𝑔 +0 · ℎ + 1 · 𝑖 + 0 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா య



16

0           0            0           0            0           0           0            0           0           0            0

a           0            a           b            c           d           c            b           a            0           a

b           0            b           e            f            g            f            e           b           0           b

c            0           c            f             h           i            h            f            c            0        c

d           0            d           g            i            j             i            g            d           0         d

a           0            a           b            c           d           c            b            a            0           a

c            0           c            f             h           i            h            f            c            0        c

b           0            b           e            f            g            f            e           b           0           b

a           0            a           b            c           d           c            b            a            0           a

0           0            0           0            0           0           0            0           0           0            0

a           0            a           b            c           d           c            b            a            0           a

clamped edges

2    -8            2

2     -8         2

-8        -81 20                         1

1

1

1 · 0 + 2 · 𝑎 − 8 · 𝑏 +2 · 𝑐 + 1 · 0 − 8 · 𝑏 +20 · 𝑒 − 8 · 𝑓 + 1 · 𝑔 +2 · 𝑐 − 8 · 𝑓 + 2 · ℎ + 1 · 𝑔 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య

2 · 𝑎 − 16 · 𝑏 +4 · 𝑐 + 0 · 𝑑 + 20 · 𝑒 − 16 · 𝑓 + 2 · 𝑔 +2 · ℎ + 0 · 𝑖 + 0 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య



17

0           0            0           0            0           0           0            0           0           0            0

a           0            a           b            c           d           c            b           a            0           a

b           0            b           e            f            g            f            e           b           0           b

c            0           c            f             h           i            h            f            c            0        c

d           0            d           g            i            j             i            g            d           0         d

a           0            a           b            c           d           c            b            a            0           a

c            0           c            f             h           i            h            f            c            0        c

b           0            b           e            f            g            f            e           b           0           b

a           0            a           b            c           d           c            b            a            0           a

0           0            0           0            0           0           0            0           0           0            0

a           0            a           b            c           d           c            b            a            0           a

clamped edges

2    -8            2

2     -8         2

-8        -81 20                         1

1

1

1 · 0 + 2 · 𝑏 − 8 · 𝑐 +2 · 𝑑 + 1 · 𝑏 − 8 · 𝑒 +20 · 𝑓 − 8 · 𝑔 + 1 · 𝑓 +2 · 𝑓 − 8 · ℎ + 2 · 𝑖 + 1 · 𝑖 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ య

0 · 𝑎 + 3 · 𝑏 −8 · 𝑐 + 2 · 𝑑 − 8 · 𝑒 + 23 · 𝑓 − 8 · 𝑔 −8 · ℎ + 3 · 𝑖 + 0 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ య



18

0           0            0           0            0           0           0            0           0           0            0

a           0            a           b            c           d           c            b           a            0           a

b           0            b           e            f            g            f            e           b           0           b

c            0           c            f             h           i            h            f            c            0        c

d           0            d           g            i            j             i            g            d           0         d

a           0            a           b            c           d           c            b            a            0           a

c            0           c            f             h           i            h            f            c            0        c

b           0            b           e            f            g            f            e           b           0           b

a           0            a           b            c           d           c            b            a            0           a

0           0            0           0            0           0           0            0           0           0            0

a           0            a           b            c           d           c            b            a            0           a

clamped edges

2    -8            2

2     -8         2

-8        -81 20                         1

1

1

1 · 0 + 2 · 𝑐 − 8 · 𝑑 +2 · 𝑐 + 1 · 𝑒 − 8 · 𝑓 +20 · 𝑔 − 8 · 𝑓 + 1 · 𝑒 +2 · ℎ − 8 · 𝑖 + 2 · ℎ + 1 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య

0 · 𝑎 + 0 · 𝑏 +4 · 𝑐 − 8 · 𝑑 + 2 · 𝑒 − 16 · 𝑓 + 20 · 𝑔 +4 · ℎ −8 · 𝑖 + 1 · 𝑗 =
ଵଶ (ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య



19

0           0            0           0            0           0           0            0           0           0            0

a           0            a           b            c           d           c            b           a            0           a

b           0            b           e            f            g            f            e           b           0           b

c            0           c            f             h           i            h            f            c            0        c

d           0            d           g            i            j             i            g            d           0         d

a           0            a           b            c           d           c            b            a            0           a

c            0           c            f             h           i            h            f            c            0        c

b           0            b           e            f            g            f            e           b           0           b

a           0            a           b            c           d           c            b            a            0           a

0           0            0           0            0           0           0            0           0           0            0

a           0            a           b            c           d           c            b            a            0           a

clamped edges

2    -8            2

2     -8         2

-8        -81 20                         1

1

1

1 · 𝑐 + 2 · 𝑒 − 8 · 𝑓 +2 · 𝑔 + 1 · 𝑐 − 8 · 𝑓 +20 · ℎ − 8 · 𝑖 + 1 · ℎ +2 · 𝑔 − 8 · 𝑖 + 2 · 𝑗 + 1 · ℎ =
ଵଶ (ଵିఔమ)௅ర
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ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ య
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1 · 𝑔 + 2 · ℎ − 8 · 𝑖 +2 · ℎ + 1 · 𝑔 − 8 · 𝑖 +20 · 𝑗 − 8 · 𝑖 + 1 · 𝑔 +2 · ℎ − 8 · 𝑖 + 2 · ℎ + 1 · 𝑔 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య

0 · 𝑎 + 0 · 𝑏 +0 · 𝑐 + 0 · 𝑑 + 0 · 𝑒 + 0 · 𝑓 + 4 · 𝑔 +8 · ℎ −32 · 𝑖 + 20 · 𝑗 =
ଵଶ (ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య
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22 · 𝑎 − 16 · 𝑏 +2 · 𝑐 + 0 · 𝑑 + 2 · 𝑒 + 0 · 𝑓 + 0 · 𝑔 +0 · ℎ + 0 · 𝑖 + 0 · 𝑗 =
ଵଶ (ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య

−8 · 𝑎 + 23 · 𝑏 −8 · 𝑐 + 1 · 𝑑 − 8 · 𝑒 + 3 · 𝑓 + 0 · 𝑔 +0 · ℎ + 0 · 𝑖 + 0 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య

1 · 𝑎 − 8 · 𝑏 +22 · 𝑐 − 8 · 𝑑 + 2 · 𝑒 − 8 · 𝑓 + 2 · 𝑔 +1 · ℎ + 0 · 𝑖 + 0 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య

0 · 𝑎 + 2 · 𝑏 −16 · 𝑐 + 21 · 𝑑 + 0 · 𝑒 + 4 · 𝑓 − 8 · 𝑔 +0 · ℎ + 1 · 𝑖 + 0 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ య

2 · 𝑎 − 16 · 𝑏 +4 · 𝑐 + 0 · 𝑑 + 20 · 𝑒 − 16 · 𝑓 + 2 · 𝑔 +2 · ℎ + 0 · 𝑖 + 0 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா య

0 · 𝑎 + 3 · 𝑏 −8 · 𝑐 + 2 · 𝑑 − 8 · 𝑒 + 23 · 𝑓 − 8 · 𝑔 −8 · ℎ + 3 · 𝑖 + 0 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య

0 · 𝑎 + 0 · 𝑏 +2 · 𝑐 + 0 · 𝑑 + 2 · 𝑒 − 16 · 𝑓 + 4 · 𝑔 +22 · ℎ −16 · 𝑖 + 2 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ య

0 · 𝑎 + 0 · 𝑏 +0 · 𝑐 + 1 · 𝑑 + 0 · 𝑒 + 6 · 𝑓 − 8 · 𝑔 −16 · ℎ +25 · 𝑖 − 8 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య

0 · 𝑎 + 0 · 𝑏 +0 · 𝑐 + 0 · 𝑑 + 0 · 𝑒 + 0 · 𝑓 + 4 · 𝑔 +8 · ℎ −32 · 𝑖 + 20 · 𝑗 =
ଵଶ௣(ଵିఔమ)௅ర

ସ଴ଽ଺ா௧య

0 · 𝑎 + 0 · 𝑏 +4 · 𝑐 − 8 · 𝑑 + 2 · 𝑒 − 16 · 𝑓 + 20 · 𝑔 +4 · ℎ −8 · 𝑖 + 1 · 𝑗 =
ଵଶ (ଵିఔమ)௅ర

ସ଴ଽ଺ య
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ଶ ସ

ଷ

Point a b c d e f g h i j

w (mm) -0.014 -0.033 -0.046 -0.051 -0.077 -0.110 -0.122 -0.158 -0.175 -0.194
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FDM,
NDOF = 10

FDM,
NDOF = 3

FE model, 64 FEs.

FE model, 2500 FEs.

FE model, 16 FEs.

Deformation of a square plate: Finite Difference Method and
FEM solution (4 node SHELL 181)
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Bending moments
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FDM, NDOF = 10FDM, NDOF = 3

FE model, 64 FEs.

FE model, 2500 FEs.

Stress SX component on the top layer: Finite Difference Method
and FEM solution (4 node SHELL 181)

FE model, 16 FEs.
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FDM, NDOF = 10FDM, NDOF = 3

FE model, 64 FEs.

FE model, 2500 FEs.

Stress SY component on the top layer: Finite Difference Method
and FEM solution (4 node SHELL 181)

FE model, 16 FEs.


